

از دستهای دیگر از هم دست A تا به دست 19

$$B \rightarrow rB \rightarrow \dots \rightarrow S = -\frac{b}{a} = \frac{a}{r} = \beta + r\beta = \epsilon\beta \quad P = \frac{c}{a} = \frac{\epsilon}{r} \rightarrow r\beta(B) = r\beta_r$$

$$\rightarrow r\beta_r = \frac{\epsilon}{r} \rightarrow \beta_r = \frac{\epsilon}{r^2} \rightarrow \beta = +\frac{r}{r}$$

$$B = \frac{r}{r} \rightarrow f\left(\frac{r}{r}\right) = \frac{a}{r} \rightarrow a = 1$$

$$B = -\frac{r}{r} \rightarrow f\left(-\frac{r}{r}\right) = \frac{a}{r} \rightarrow a = -1 \Rightarrow |-1-1| = 14$$

$$\sqrt{\frac{1}{\alpha}} + \sqrt{\frac{1}{\beta}} = \frac{1}{\sqrt{\beta}} + \frac{1}{\sqrt{\alpha}} = \frac{\sqrt{\alpha} + \sqrt{\beta}}{\sqrt{\alpha\beta}} = \frac{\sqrt{\alpha + \beta + r\sqrt{\alpha\beta}}}{\sqrt{\alpha\beta}} = \omega \quad S = \alpha + \beta = \frac{m+1\epsilon}{r4} \quad P = \alpha\beta = \frac{1}{r4}$$

$$\rightarrow \sqrt{\frac{m+r4}{r4}} = \omega \rightarrow \sqrt{\frac{m+r4}{r4}} = \frac{\omega}{r} \rightarrow \frac{m+r4}{r4} = \frac{r\omega}{r4} \rightarrow m = -1 \rightarrow \alpha_r, r\alpha + r\epsilon = 0$$

$$P = \frac{c}{a} = \frac{r}{-1} = -r$$

$$\alpha\beta = -r, \alpha + \beta = 1 \rightarrow \alpha(1-\alpha) = \alpha - \alpha^2 = -r \rightarrow \alpha^2 - \alpha - r = 0 \rightarrow \alpha = -1 \quad \alpha = r$$

$$\alpha = -1 \rightarrow \beta = r$$

$$\alpha = r \rightarrow \beta = -1$$

$$\alpha = r \rightarrow r^2 + \epsilon K = 11 - r = 0 \rightarrow \epsilon K = -\pi \rightarrow |K = -r|$$

$$\alpha = -1 \rightarrow \epsilon + K + 9 - r = 0 \rightarrow |K = -r|$$

$$\alpha + \beta = 4 \quad \alpha\beta = a \quad \alpha = \frac{-4 \pm \sqrt{16 - 4a}}{2} = -2 \pm \sqrt{4-a} \quad \alpha < \beta \rightarrow \alpha = -2 - \sqrt{4-a}, \beta = -2 + \sqrt{4-a}$$

$$\alpha = -2 - \sqrt{4-a} < 0 \rightarrow \sqrt{4-a} < 2 \rightarrow a > 0 \quad \alpha^2 = 11 - a + 4\sqrt{4-a} \quad \beta^2 = 11 - a - 4\sqrt{4-a}$$

$$\rightarrow r\alpha^2 + r\beta^2 = r(11 - a + 4\sqrt{4-a}) + r(11 - a - 4\sqrt{4-a}) = 90 - 2a + 4\sqrt{4-a} - 12\sqrt{r+11a}$$

$$\rightarrow 4\sqrt{4-a} = 12\sqrt{r+11a} - 90 \quad r \cup \beta_r, 110\sqrt{r(a-1)} = 0 \rightarrow a-1 = 0 \rightarrow \boxed{a=1}$$

$$\alpha = -2 - \sqrt{1} < \beta = -2 + \sqrt{1} < 0 \quad \checkmark$$

$$\alpha^2 = 11 \rightarrow n^2 \vee n - a = 0 \rightarrow 11 = \epsilon 9 + r = \epsilon 9 \quad n = \frac{v \pm \sqrt{49}}{2} \rightarrow \alpha^2 = \frac{v - \sqrt{49}}{2} \quad \text{و و و}$$

$$\alpha^2 = \frac{v + \sqrt{49}}{2} \rightarrow n = \pm \sqrt{\frac{v + \sqrt{49}}{2}} \rightarrow S = 0 \quad P = \frac{v + \sqrt{49}}{r} \rightarrow P^2 = \frac{\epsilon 9 + 1\epsilon \sqrt{49} + 49}{\epsilon}$$

$$rP^2 - rSP + rS = 229 + v\sqrt{49}$$

$$f) \text{ شیب های متوازی: } r_1, r_2 \quad \text{شیب های متوازی: } r_1 + \frac{1}{r}, r_2 + \frac{1}{r}$$

$$S_r = r_1 + r_2 = -\frac{1}{r} \quad P_r = r_1 \cdot r_2 = \frac{r}{a} \quad S_1 = r_1 + \frac{1}{r} + r_2 + \frac{1}{r} = (r_1 + r_2) + \frac{1}{r} + \frac{1}{r} = -\frac{1}{r} + \frac{1}{r} + \frac{1}{r} = \frac{a}{r} \Rightarrow \boxed{a=1}$$

$$P_1 = (r_1 + \frac{1}{r})(r_2 + \frac{1}{r}) = r_1 \cdot r_2 + \frac{1}{r}(r_1 + r_2) + \frac{1}{r} = \frac{r}{a} - \frac{1}{r} + \frac{1}{r} = \frac{-r}{a} \xrightarrow{a=1} P_1 = -r = \frac{b}{r} \Rightarrow \boxed{b=-r}$$

$$\left[\frac{ab}{r}\right] = \left[\frac{-r}{r}\right] = \left[\frac{-r}{r}\right] = -r$$

$$S = \frac{a}{a} = 1 = \alpha + \beta \quad P = \frac{-b}{a} = \alpha \beta \xrightarrow{a=1} \alpha + \beta = 1 \quad \alpha^2 = (1-\beta)^2 = 1 - 2\beta + \beta^2$$

$$\xi = \beta^2 + 2(1-2\beta + \beta^2) - 2\beta = 1 \quad \xi = \beta^2 \quad \xi = \beta + r = 0 \quad \div r, \quad 2\beta^2 - 2\beta + 1 = 0$$

$$\Delta = \xi = 0 - 4 = -4 \quad \beta = \frac{2 \pm \sqrt{-4}}{2} = \frac{\omega \pm r\sqrt{\omega}}{1}, \quad \alpha = \frac{\omega \mp r\sqrt{\omega}}{1}$$

$$|\alpha - \beta| = \left| \frac{(\omega - r\sqrt{\omega}) - (\omega + r\sqrt{\omega})}{1} \right| = \frac{r\sqrt{\omega}}{\omega}$$

$$\alpha^2 - (a+1)\alpha + a = 0 \rightarrow \alpha = 2n-1, \beta = 2n+1, n \in \mathbb{N} \quad \alpha + \beta = S = \xi n = a+1 \rightarrow a = \xi n - 1$$

$$P = \alpha \cdot \beta = (2n-1)(2n+1) = \xi n^2 - 1 = a \rightarrow \xi n^2 = \xi n \rightarrow n^2 = n \rightarrow n=1 \rightarrow a = r \rightarrow P_1 = r$$

$$\alpha^2 - (ra+1)\alpha + b = 0 \quad a=r \rightarrow \alpha^2 - 1 \cdot \alpha + b = 0 \rightarrow 2K, 2K+2 \rightarrow S_r = 2K+2K+2 = \xi K+2 = 1 \rightarrow K=r$$

$$\text{شیب های متوازی: } 1, r \quad \text{شیب های متوازی: } \xi, r \quad |(1 \cdot r) - (\xi \cdot r)| = |r - r\xi| = r$$

$$S = \alpha + \beta = \frac{-1-m^2}{1} = -1 - m^2 \quad P = \alpha \cdot \beta = \frac{-1-m^2}{1} = -1 - m^2 \quad \alpha^2 + \beta^2 = (\alpha + \beta)^2 - 2\alpha\beta$$

$$\rightarrow 1 - 2(-1 - m^2) = 1 + 2 + 2m^2 = 3 + 2m^2 \quad m^2 \geq 0 \rightarrow 2m^2 \geq 0 \rightarrow 2m^2 + 3 \geq 3 \rightarrow \alpha^2 + \beta^2 \geq 3$$

$$\Rightarrow m^2 = 0 \rightarrow 2(0) + 3 = 3 \Rightarrow \alpha^2 + \beta^2 = 3$$

$$\frac{-\omega + r}{r} = \frac{-r}{r} = -1 \rightarrow S(-1, 1) \quad \text{چون دو نقطه هم عرض هستند خطی با شیب 1 از این دو نقطه می‌گذرد}$$

$$\alpha^2 + \beta^2 = (\alpha + \beta)^2 - 2\alpha\beta = \omega \quad \alpha_s = \frac{-b}{ra} = -1 \rightarrow \frac{-b}{a} = -r = S = \alpha + \beta$$

$$\rightarrow (-r)^2 - 2\alpha\beta = \omega \rightarrow 2\alpha\beta = r^2 - \omega = -1 \rightarrow \alpha\beta = \frac{-1}{r} = P \quad y = \alpha^2 - S\alpha + P \rightarrow y = \alpha^2 + r\alpha - \frac{1}{r}$$

$$\alpha = 0 \rightarrow y = 0 + 0 - \frac{1}{r} \rightarrow y = -\frac{1}{r} \rightarrow (0, -\frac{1}{r})$$